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corr_Adet_evMon3 (p

4000—

2000 —

2000 [{@—
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— &

pb)
X2 / ndf 3606 /53 H
p0 -195.4 + 26.42
¢ ¢
LI ebge

1D pull distribution

Mean 1.488 £ 0.3696

Std Dev  2.506 + 0.2613

Underflow 5
- Overflow 3
X2 I ndf 12.78/15

Constant 2.256 +0.542

Mean 1.583 £1.358

Sigma 4.416 +2.014
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corr_Adet_evMon5 (p

pb)
X2/ ndf 710.5/53 }
p0 —4.744 + 4.325

1D pull distribution

Sigma

Mean -0.1157 £ 0.4104

Std Dev 2.931+ 0.2902
Underflow 1
Overflow 2
X2/ ndf 11.26/17
Constant 2.618 + 0.550
Mean -0.4895 + 1.1207

4.564 + 1.452

N

-2 0 2 4

6 8




(ppm)

corr_Adet_evMon5 RMS

— O'vvee
—] €'¢vee
—] ¢'evee
— T'evee
— o'cree
— 0'8cee
— 0'Lcee
—] ¢'veee
— T'veee
— O'vcee
—1 0'€cee
—] 6'¢cee
— 8'ccee
— L'ccee
— 9'ccee
— G'ccee
— v'eeee
— €'¢cee
— 2'ecee
— T'ceee
— O'ccee
— 6'Tcee
—] 8'TcEE
— L'1cee
— 9'Tcee
— G'Tcee
— v'IcEE
— €'1cee
— ¢'1cee
— T'Teee
— 0'Tcee
—1 9'0cee
— G'ocee
— v'ocee
— €'0cee
— c¢'ocee
— T'ocee
— 0'0cee
— G'61€E
— V'6TEE
— €'61€E
—] C'6TEE
— T'6TEE
— 0'6TEE
— O'viee
— T'TIEE
— 0'T1EE
— T'0TEE
— 0'0TEE
— €'80¢€€
—] ¢'80¢€¢€
— T'80€E

—1 0'80€¢€
__ ______________________._lo.momm
(@] [ce] © < N o [ce)
N - - -l -l —l

______
N
N

(wdd) sny



® e S} o © ) Q )
=} N ~ — =] <
4 3 g 9 4 8
=} IS} =1 M =] S) ]
H H < 3 + + 7
S @ < © —
m S} =} o -
°c . & = _ = ]
[ 5] K] k] 8 a —]
5 [a} 5] T c 17} s £
c ] = B g ~ 5 o} i=) N
o s » S 8 ¥ O = & E
=
>
b -
= . ]
= -
o [ —_— .
© : -
=1 -
o
o ]
- [
e e by by by 1 1 L Ml B BT
© © < N o 0 < N o
- — - — —
I
m ©
Lo
o
Mv_.+_
©
—
i
| ——
Y—
©
c
=)
N
ol >< Q]
o
(=8
~ ——
—_——
(o]
c
=
>
()
ol
[}
g
r_
=
o
o
————
———
——
——
_______________ (AR RNARAN NN
o o o o o o o o o o
o o o o o o o o o
§ 8 & S S 8 8 §F 8




(ppm)

corr_Adet_evMon6 RMS

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1 10 S} o ) o < @
g & 283 B
< < o H w + ©
g 3 - 3 g B i
58 s g 3 o
=} o -
- =
s 8 § £ 2 § ¢ ¢ =
c|§ = E &8 7 £ § 5 ]
o = 7] =} ¢} =< o = 7] -1
=
> — ~
o -
] \ 1
o { -
=] L / -
3 |2
o -9
o =
- =
—
nmv
L | L | - L R T N T T P
N o [ee] < N o
— -
[ —e— —
—— —
ol e _
0o - —e— —
~m ——i —
— NF—e— —
—— —
IS+ — ]
28 —e—1 —
4 —— —
1_ —— —
6 —— —_
—— —
—— —
—— —
....m —e—+ —
c — n
.y —— —
=) ——] 7]
o< — n
o) —— —
o —h— —
~ —— —
N~ —— —
c —— —
(o) —— —
M —— —_
S —— —
o ——— —
| ——t —
Lnl-m —— —
S —— —
< —e— —
_ ——— —_
” —— —
o —— —
o —— —
—— —
—— —
—— —
—— —
—— —
—— —
——— —
—— —
—— —
—— —
—— —
——
—— —
—— —
—— —
—— —
_ | At |, A
o o o o o
o o (=3 o
o Te} Yol o
- | —



(ppm)

corr_Adet_evMon7 RMS

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



~ «© o o — [Te) © o
2 g S8 8 3
s Z 8 < g o )
4o 9 8 403 ]
S g g 8 :
8 3 woog A ©
S o
o
I R - a
c 8 @ £ g ? c g — <
c 3 z B g = s g8 35 =
o = 5 5 6 % o0 = B
= m
=} — N
2 [ =l 7
w C ] ]
2 / o
= -
=3 -«
o =
i -
N
¢
—3
| I R T T | L | I T S T R P
=) ) © < o
i
I ]
M .
0 3 e 3
-~ © ]
88 —— -
~ + —— -]
O ~ —— —
AN © T
()} —— —]
N ]
| —— ]
—— —
u— _
5 .
= —— —
N O —— ]
o< ]
o
o3 —e— ]
~ —— —
0 ]
= ]
o ]
W —e—s —
o —— —
| —— —
o —e— —
S —— —
< —— —
| —— —
- —e— —
o —— —
o —— —
—— —
+eo— —
—— —
—— —
—-— —
—et— —
——— —
—— —
— —
—e— —]
——  —
—— —
—e— —
— e —
—— —
_______..T.u'_lI._______________________________“
o o o [S) o o o o o c
S S S S <] S =) S c
s & 4 = & 8 ¥ B ¢



(ppm)

corr_Adet_evMon8 RMS

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



o o o o © © ~ ~
= IN - < ) ©
] 8 B N ] K
IS} =3 < hd hal (=]
H ° @ 2 ° + —
~ + ] + ~ n
g 3 S 8 3 .
b 8 R 2 —
(=] S [S) o
? 3
z = i
3 m m <] m © —
cls & § 3 i 5 E
|2 & 5 &8 = 8 2 &
=
5 Z |
b =
= -
=1 -
o -
© -
= .
o —
(@)
i
ol by b by by by by L
© < ] o © © < ~ [S)
— — — =
I —— [
—_— —
™M 0 ° .
O O e I
=~ 9 —_——— —]
< © — o —— .
™ H —r— T
o ——— -1
n (@] —_—— —
N —_—— -
0 ——— —+:
— —_—— —t:
| —— -1
—— —
————— —
= ———— —1
© ————
c
——— —
N O . .
al>< Q] —r ]
m ——t— —*
o 1T
N—r -
@ m
1= I
m -
-
> I
o —— —
t_ —_—— -1
[ 1
© I
A_ ’
—_ —
. .
o -
o ——— —
————i —
—— -
1 1 -
—— -
—_— —
— -t
—_—e—— —
————— -
—_—— —:
—_————i I
——1— —
——— —
—_— — s
—— P L
____________________1|4|T!|_|TI_________ Uiy
o o o [=) o o o o NALNTILNOTI0N
& & s °® T 2 4 N dooldl



(ppm)

corr_Adet_evMon9 RMS

12
10

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



0

0
6.781e-12/0
70.26 + 142.55

0.4489 + 0.6998
0.2511+ 1.2528

Std Dev
Underflow
Overflow
X2/ ndf
Constant

Mean
Mean
Sigma

1D pull distribution

|

0/53 h

0'vvee
£Zree
2evee
[L'Zvee
02vee
0'82€€
0°'/2€€
c'veee
L CEE
0'veee
0'€cee
6'CCEE
8'¢ceee
L'CeeE
9°2eee
G'geee
V'2eee
£'¢eee
2'ceee
[L'CCEE
0'ceee

577

6
|

0
|

X2 / ndf
p
|

(Ppb)

corr_Adet_evMon10

6'T2EE
8'Tcee
L'Teee
9'TCEE
S'Teee
'1CEE
£'1eee
C'TCEE
[12ee
0°'T2ee
9°02€€
G'02€ee
7°02€€
£'02ee
2'0cee
IL°0CEE
0°0cee
S'6TEE
7'6TEE
£'6TEE
C'6TEE
[L'61EE
0'6TEE
0'vTEE
LTIEE
0'TTEE
[L'0TEE
0°0TEE
£'80€€
2'80€E
IL'80€E
0'80€E
0'S0€E

__________T_l.l.l.l_l.lTIlITT_l.lTT_l__________.T
[=) o o =) [S) [S) =) o o
© © < « X 5 © ®



(ppm)

corr_Adet_evMonl10 RMS

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wdd) siny

0



© o o o o wvw © w
s &2 g 8
1o T8 8 2
© © e + +
E g g d
5 o S b
I S
. 3 =z _
®» T 2 BT g ]
s o & §T £ @ g ¢
cl|ld = B ¢ 5+ & & »
|l & 5 &8 %« 48 = &
=
3
o)
s
2 =
o
=)
o
o
-
PSR TR [N TR TN TN TR [N TN TN TN N NN SN WO SO S |
o o o [)
[re) < ™ N
[
[selnte}
n o
-~ ™M
o~
+l
o
Y—
©
c
~
~n O
QX< Q9|
Q.
o —_—
—
i
i
c
o
>
(]
ol
©
A_
—_
=
o
o
—
_____rlTIl1I|.|.|_.____

0'vvee
£Zree
2evee
[L'Zvee
02vee
0'82€€
0°'/2€€
c'veee
L CEE
0'veee
0'€cee
6'CCEE
8'¢ceee
L'CeeE
9°2eee
G'geee
V'2eee
£'¢eee
2'ceee
[L'CCEE
0'ceee
6'T2EE
8'Tcee
L'Teee
9'TCEE
S'Teee
'1CEE
£'1eee
C'TCEE
[12ee
0°'T2ee
9°02€€
G'02€ee
7°02€€
£'02ee
2'0cee
IL°0CEE
0°0cee
S'6TEE
7'6TEE
£'6TEE
C'6TEE
[L'61EE
0'6TEE
0'vTEE
LTIEE
0'TTEE
[L'0TEE
0°0TEE
£'80€€
2'80€E
IL'80€E
0'80€E
0'S0€E

100




(ppm)

corr_Adet_evMonll RMS

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wdd) siny

0



6000

4000

2000

2000

4000

lagr_asym_us_avg (ppb)

X2 1 ndf 56.4 /53
p0 -350 + 164.5

—
—

;—IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

1D pull distribution

Mean

121~

101

|

Std Dev

Underflow

Overflow

X2/ ndf

Constant

Mean

Sigma

0.02522 + 0.139

1.022 +0.09831

0

0

2592/6

10.21+1.94

-0.138 + 0.221

1.2+0.2

-2 0

2 4




lagr_asym_us_avg RMS (ppm)

___
o
o
N

(wdd) sy

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1D pull distribution

+0.1386

0.0242

Mean

1.018 + 0.09797

Std Dev

Underflow

Overflow

2.453/6

X2/ ndf

+20

10.8

Constant

+0.1761

0.1438

Mean

+0.161

1.047

Sigma

0III|III

56.01/53 hH
+159.3

99.12

X2 / ndf
0

p

lagr_asym_us_dd (ppb)

4000

3000

2000
3000
4000




lagr_asym_us_dd RMS (ppm)

|| H

(e2} (e} N~
o o
i -

108.5
107.5
10

(wdd) sy

106.5

L]
©

10

105.5

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



- § % kB o< ®
H H < ha] o H .
S i &
@3 Q d H g m
M [S] m |I ©
3 .
: & 3 5 G
c|l§ S ¥ 5 2 2 § ¢& ~
= =
sl 8 5 & % 8§ = @&
5 i
b -
= I ]
g = 3-
© Y -
3 _ -
o =
g9
J_.
—¢
AR TR W NN TN W S [ W | PR T T R T TR T
m © © N Oo_o
[ —]
I e— —
™ < “_ ]
58 e —— . S— —
~ N —_— —
o N — —
Ln + ——1— —
—_— —
1_ ——— —
(0] —_— —
< —— =
A_-. H—— —
—— —
—_—— —
—— —
5 — .
c — —
- —_——] —
=) —r .
< a —_ 7
— —
m/ —— —_
Q ——— —
—lo—— —
e T e . .
—_
%) —_—— —
S ———— —
—— —
m_
—_—— —
—_—— —
>
[7)] —— —
© — —
r_ —e—— —
o —_— —
a ——— —
—_ —_—— —]
—_— —
—_—— —
—l— —
— —
—— —
—— —
—_—— —
— —
—_—— —
—_—— —
—_— e —
— —— —
—_— —
—_— —
—_— —
—_— —
| _ 111 _ 1 | T_IT'I_.H_“.._ _ _ | il in
8 8 8 e = S g aunTowTina
=} =} =1 o =} =1 - o o !
© < [3Y ~ <t © | |




lagr_asym_usr RMS (ppm)

—] ovree
— ezvee
— zzree
—{Tevee
— ozree
— o'gzee
— ozzee
— zvzee
—{ Tveee
— ovezee
— ogzee
— 6'zzee
— gzeee
—| Lzzee
— 9zeee
— szzee
— v'zeee
— ezzee
— zzeee
—{T'zeee
— ozeee
— 6'Tzee
— 8'Teee
— L'Teee
— 9'Teee
— s'Teee
— v'Teee
— e'Teee
— zTeee
—{T'Teee
— o'Teee
— gozee
— sozee
— vozee
— eozee
— zozee
—{T'0zEE
— oozee
— g6TeE
— vetee
— e6Tee
— zelee
—{T'6TEE
— oe1ee
— oviee
—{TTIEE
— oTtee
—{Totee
— ootee
— €'80ee
— z'goee
—{ 1'80g€
— o'goee
| | | H osoee

_______
o
—
N

(wdd) sy



1D pull distribution

+0.1474

0.03518

Mean

1.083 £0.1042

Std Dev

Underflow

Overflow

791/7

X2 / ndf

9.515 +2.231

Constant

0.08928 + 0.17030

Mean

1.041+0.205

Sigma

0III|III

63.44 /53 hH

-250.9

X2 / ndf

227.5

+

pO

lagr_asym_usl (ppb

e e

6000 —




lagr_asym_usl RMS (ppm)

____
o
<
N

(wdd) sy

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1D pull distribution

+0.1559
1.145 +£ 0.1102
2.898/7
10.26 +2.01

-0.02348

Mean

Std Dev
Underflow
Overflow
X2 / ndf
Constant

-0.1699 + 0.1704
1.085 +0.172

Mean
Sigma

|

0III|II

70.87/53 |
+ 25,55
il

~4.847
|

X2 / ndf
0

p

(nm)

diff_evMonO

_________II_I_QH_HO_I

H

l

o o o
o [=} (=}
@ © <

200

o

-200—
-400 —
-600 —

-800 —
g e e




(um)

diff_evMon0O RMS

(wn) sSNY

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1D pull distribution

+0.1754

0.05225

Mean

1.289 + 0.124
10.12/7

Std Dev
Underflow
Overflow
X2 / ndf

12.09 +2.72
0.07761+ 0.13463
0.8015 +0.1610

Constant
Mean
Sigma

%

89.85/53 R

X2 / ndf

.09 +£16.22

29

pO

(nm)

diff_evMonl




(um)

diff_evMonl RMS

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1D pull distribution

(nm)

diff_evMon2

S S8 08

@ = ° ° © < 0 s
g g s & % B
5 g 9 8 3
o = S P b} S
H + w0 o het A -
g g R h
S R 5 b4 .
S N —
< -
q
& n
=z _ n
3 2 3 s & . ]
5 S ¢ 3 = oz 5 & E
s 3 5 5 %« 8 2 3 -
f .
_ —]
_ ]
v e b by by by by v by by g by 7
) © < N o ES) © < o~ =)
- - - - -
_ . .
m O P —
O N —
~ N —
N —
<o) —
n/m+_
—— —_
o N =
— —
i —
— -
o= —
© 1
n p—
- T
O ]
< Q]
—— —
— —
——— —
—— —
—— —
—e—1 —
—— —
— —
— —_
——— —
—— —
— —
—t—— —
——— —
—— —
——— —
——— —
——— —
—— —
——— —
—— —_
.|0|I. —
__ _____.ﬂlﬂﬂlﬁl.l_______________
o o
=} S 8 8 8
< 5]




(um)

diff_evMon2 RMS

I _
o
—

(wn) sSNY

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



@ 2 ) ) © @ © ®
g g e T E
S} S @ H S (=)
+ + ~ 8 + + -
S ] N © ]
S <] =] —
E ]
> m 3 - € -1
s &8 3 £ T § ¢ g =
c|§ = B & - 5 § 5 -
(o) = 7] =} [e] =< o = (7]
E=
3 \_U_M
e} ; -1
..m ; ]
ol T . -
2 =
o
a) =
= 3
! ! M RN R | i R | [T L
[ee] < N o © © < N o
~ - ~ —
I
[sp )]
0
~©
o ©
m+_
— M
o
i
|
——
Y—
©
c
=}
N
<
€ =
(=
~
™
c
=
——
>
e_
E
©
——
——
——
——
——
________________T.IrlT______________
o o o o o o o
o o o o o o
8§ S S8 8 F




(um)

diff_evMon3 RMS

(wn) sSNY

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



g8 § ° ° 2 § § 8
S = 2 - pd o
+ ﬂ © H H H ]
~ © = ) 2 8 -1
3 ¢ S 8 © ]
I - [ts) =1 — —
2 =] i
I
@ < K] k=1 8 ]
§ 2 8 3 £ oz § E
c = ]
§|£ 8 5 s =8 ¢ 3 .
= .
b -
= -
i) [ C -
© -
=1 -
o —]
o =
-
—
v e b by by by by v by by g by 7
© © < ] o © < ~N o
- — - — —
[ —]
™M L0 .
ol 7
/4 —— —]
00.5 —— —
foo) —— —
15 —— —
b — —
o —o—. 3
(@)] —@— —
| —— —
—r— —
—— —
5 — .
c —— —
— —— —
=) —— .
xq| —e— m
—— —
—e— —
—_— —e—h —
m —— —
£ et ]
—— —
S —e— —
m —— —
s —— —
—— —
P —e— —
e_ — —
u“ —— —
rm —— —
—— —
—— —
—— —
— —
—— —
—— —
—— —
—e— —
——— —
—— —
—— —
—— —
—— —
—r— —
—— —
—— —
e i erde T Livaa g A
o o o o o o
o o o o o
8 S R I




(um)

diff_evMon4 RMS

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



<
|

25007450
§ 8 S 3 g 8
S S &+ 3 s
o + .
3 2 s & 8 -
g g o 8 ]
=) 2 % 2 —
< P S °
S ° ]
- ]
> m 3 € -1
o £ o <] s © —
T B I
o s B 5 S %« 8 2 &
=}
5 7
b -
£ : ]
2 = -
© 1 -
= 7
o
)
— 3
M | PRI P T | IR BRI BT R ET N B
< N o o] © < N o
- - -
I —
MM _
™ T
<~ T
0 N -
%+_ ]
I3 w 7
™ T
- 7
1 —
_ p_—
—— —
= _
© .
c
—— —
= .
~n O ]
< O -
£ .
c ]
N
T} 7
= _
m _]
o —
w — —
| —— —
= ——— —
—_ —— —
© ——— —
——— —
—_——— —
—— —
——— —
—— —
—— —
—— —
—te—— —
——— —
——— —
——— —
——— —
———  —
——— —
—t— —
—_———— —]
———— —
I L1l __________T__rz__h__z31__:_._:_;:
8 8 § 8 ° 8 % 8 8 N o qo

0'50€E



(um)

diff_evMon5 RMS

Ll _____________________ﬂ

S N ™o ©
™M ™ o

(wn) SNY

N

N
o

N
o

N

@
i

©
—

<~
—

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



diff_evMon6

' b= (=} (=} < o @ ~
S 3 > 5 N B
= S 9 < o “
S S N = s
+ + 2 + + -
© : a
g g s 5 g ]
=3 * hal ]
8 e <] o —
3 i
% a
> m H € ]
4] = 2 k=1 S © —
IS a 3 = 2 7 5 g
c|§ = T ¢ = 5 § 5 -
o = 7] =] e} =< o = [ 1
= m
=}
Qo
= -
= a
2 P ]
o -
=) W
o
o i
- —
L L L L [ - | oo
[re) 1) o 1) o
N = =
[
oM <
0o m
~ N~
N~ -
N
-
[
AN
(@)
-
|
—
©
c
~
N O
< Q|
1S
=
~




(um)

diff_evMon6 RMS

(wn) SNY

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1D pull distribution

P N @ ow
g & ° ° 5 g8 8 8
5 g 5 Y & 2
g 3 w8 3
s o L R~ S
Q |
bt bt 8 82 s -
g B 8 w8 m
a .
[ 4 T o
S
g © w —]
5 3 ]
g
q .
2 = -1
s & & _ E
2 T 2 B = ©
s &8 3 £ 28 § g g
3 T ¢ - £ @ -
2 = = zZ & & 2 2
= » S5 O < o = @0 -1
1|
PSR TR [N TN TN TN T [N TN TN TN TN N SN TN ST SO AN ST ST ST T A SN SO T
[Te) o [Te} o Te] o
N N - -

.895

+

9.658 /53 hH
1

106

-0

0

X2 / ndf

p

(nm)

diff_evMon7

-@- p—
_____________—I.I.I.I.II..QI.I.I_I.I.I_.________.T
o o o [S) o o o
™ Y = — I ™



(um)

diff_evMon7 RMS

____
©
©
o

(wn) SNY

0.64—

0.62

o'vree
geree
ceree
Tevee
oeree
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
2'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1D pull distribution

+0.07467

0.001547

Mean

0.5487 +0.0528

Std Dev

Underflow

Overflow

2.631/3

23.23 +4.53
-0.082 £0.070
0.4776 +0.0715

X2 / ndf
Constant
Mean
Sigma

24F

OIII
-8

© < ~N

16.26 / 53 h

1.409

X2 / ndf

1.461

+

pO

(nm)

diff_evMon8

e e e

O

20—




(um)

diff_evMon8 RMS

____ ____________________________ﬂ
™ N A\ — S @Q ™~ © o <
— — — o o o o o o

(wn) SNY

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



diff_evMon9

o
: g e 7§ ¢
° o ~ 2 ° + -
+ + 2 + P ]
8 8 ~ 2 2 n
b= B & 2
s S S © ]
? g ]
> m 3 € -1
] = 2 k=1 S © —]
M o < Tt < M M £ |
c 3 be] 2 < I~ < 53 =3
o = 7] =] o < [} = n -1
= m
=}
o)
= . ]
— T -
2 —— —
© 1 —
=
o
o n
- m
b by b b by by by by b b by by
N [<) © © < o~ =) 0 © < Y [S)
~ 39 - — — — =
[
(923N 2]
n o
-~ NN
o @
— O
g 5
(o]
1o
<
™
o
Y—
©
c
~
~ O
< Qo
IS
[y
N




(um)

diff_evMon9 RMS

0.42

<
o

[e0]
™

o

(o]
™

o

<
™

o

™
o

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



©o ©o o o o v © o
s &2 g 8
~ o
H H A.M.MH_.
© © L o+ + + ]
E e g g .
s oS I ¥ -
~ s o i
- & 3z . ¢ ]
2 T L2 T 8 © —]
s o s ¥ B B g E
c|l& = B &£ 5 § & o ]
|l & 5 &8 %« 48 = & E
= .
5 —]
2 ee?
= 7
=1
R =
© e
m -
o —]
o i
— .
P R T N R TR S R N S T S T | 1 1 L
o [=) o [) o [S)
[re) < ™ « —
[
™M L0
O N
-~ ™M
o™~
o
+
o
—
©
c
~
N O
< Q|
IS
c
~
o
—
c
=
>
(]
o
=
©




(um)

diff evMon10 RMS

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wn) SNY

0



1D pull distribution

0

0
6.781e-12/0
70.26 + 142.55
0.4489 + 0.6998
0.2511+ 1.2528

Std Dev
Underflow
Overflow
X2/ ndf
Constant

Mean
Mean
Sigma

|

...I...I...I..J .LI...I...I...

10
0
_8

0/53 h
0.682

0

X2 / ndf

p

(nm)

diff_evMonl11l

10
5
0
5




(um)

diff evMonl11l RMS

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wn) SNY

0



g 8 ° ~ 8 8 8
S 3 -~ o © 0
IS} 2 o S © ~
- < S + + + -
3 o - 8 B 8 1
& g 4 9o 9 =
[
[ V4 =
: 2 3+ G E
s o s T B2 B g g —]
c 8§ = B e 3 s g8 35 ]
m = n =) (o) < o = n y A -1
= =
5 —
m -
b= .
R [ ¥ -
> _ 1 ]
=] -
o —
o [ ]
- ] .
L ]
[ —
P | IR T T T N T [ M TR
© [r) < ) ~ Bl o
I —@— —
™M © — e *— I
O o0 ° _L
~ —Q— —
[ | —— —
<t + —— -+
o —e— -4
=3 —o— =
o —@— -
N —— —1
i -
| —— —I
Ho— —
|m —@— —:
.y —— —+
2 Q e m
(o1 —— —
e < o I
~ -0 -
—— —_—
m He— -
o —@— —
—e— —1
= . ]
[ H@— —
| - 4
(@) —— —
> —— —:
, o~ ]
—0 —
()]
S u I
r_ —@— H_
5 Jo- m:
o - T
. -
—— —
—@— -
Ho— —_
—— —
—— —t
—e— -1
—e— —
—Q— —
—— —
—q— —:
—e— —+
—— —
111 _ ] 4.._.._ 1 11 11 ] ]
o o o =) o
o o o (=
o o o o
3 B 3 3




g_evMon0O RMS (ppm)

corr_us_av

o o
o Lo
N~ ©

(wdd) sy

o
o
©

o
Lo
Lo

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1D pull distribution

+0.4017

-0.12
Std Dev  2.952 +0.2841

Mean
Underflow

Overflow

17.66/14
2.459 £ 0.512

X2 / ndf
Constant

-0.54 +2.63
6.785 + 3.769

Mean
Sigma

il

%

i

L]

N~

©

[Te}

471.4 /53 R
+189.1

—785.5

X2 / ndf
0

p

g_evMonl (ppb)

corr_us_av

——

—e—

——

1000

_______TTLI—____
o o [S)

500

5000

10000

0 © 420ﬂ_/_4_.r_0




g_evMonl RMS (ppm)

corr_us_av

o
o
©

(wdd) sy

o
Lo
Lo

o
o
Lo

o
[To]
<

o
o
<

o
Lo
™

o
o
™

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



o & o o I 0 © 0
8 3 > e 2 38
3 8 S + 8 S
S = - o« =] a i
+ + < o -
58 & 4 8 3
g 8 g 3 3
7 g .
= i
> ..Iw B - H .
cls 5 & 5 2 & 5 ¢& 3
§1f 38 5 5 = 8 § 3 ]
= .
5 —
3 D
=] f .
2 _— —]
© 9 -
E =
o —
(@) n
i .
| PRI I R A 1 'l | I I I T
< N o © © < ~ [=) 0 © < o~ [S)
N ~N N - - - - —
[
mm 0_
~
~ <
™ 4
NS ‘
i
(]
™
|
Y—
©
c
)/0
ol
o<
(@]
N—r
N ———
c
=
>
e_
2
a_
()]
=
—_——
a
f—
o
o
—
———
11 L1111 | | | L 11
o o o o o
=] S S =]
S =1 ] S
S hrs} 3 S




g_evMon2 RMS (ppm)

corr_us_av

;

o (@] o
< AN o
™ ™ ™

©
N [Q\

(wdd) sy

<
N

N
N

o
N

(<}
—l

___________________________
2 2 2 2 8 2 8

©
—

o
<
i

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



4000

2000

2000

4000

6000

corr_us_avg_evMon3 (

ppb)
X2/ ndf 3597 /53 kL
po -195.4 + 26.45
) é
[ é Q*i.

1D pull distribution

Mean 1.487 £ 0.3691

0III|III|

B StdDev 2503 + 0.261
Underflow 5

- Overflow 3

X2/ ndf 13/16

Constant 2.21+0.53

Mean 2.004 +1.308

Sigma 4.117 +1.755

(AN

/

8 6

-4

-2 0 2 4 6 8



g_evMon3 RMS (ppm)

corr_us_av

I ___________________________ﬂ

o o o
[To] o Yol
< < ™

(wdd) sy

300

o
Lo
[Q\

o
o
N

o
Lo
-

o
o
—

o
n

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



0.1623 £ 0.2816

Mean

+0.1991

2.05

Std Dev
Underflow

16.3/12
3.068 + 0.711

Overflow
X2/ ndf
Constant

1144 +1.712

Mean

4.255 + 2.583

Sigma

1D pull distribution

1

|

328.8/53 R
-238.7

X2 / ndf

89.35

+

pO

g_evMon4 (ppb)

corr_us_av

—e—

T ovree
. RS e

2evee
[L'Zvee
02vee
0'82€€
0°'/2€€

- 2T veee

-iqryzee

-x-+q0'veee
-r-4-0€cee

6'CCEE
8'¢ceee

-r-i-Lzzee
-+-a-Jozzee

G'geee

- 2dpzzee

£'¢eee
2'ceee
[L'CCEE
0'ceee

---a-6'TZEE

= adgTeee

-r-uLTeee
-r-49°TCEe

S'Teee
'1CEE
£'Teee

---a-T2EE

-ar'T2ee

-+-2J0°T2ee

9°02€€
G'02€ee
7°02€€
£'02ee

---a-qz0ozee

FEES (T4}
--o'ocee

-r-isetee
---iqveTEE

£'6TEE
C'6TEE

--iU'6TEE
-+-i-o'6TEE

t-Joviee

LU TTEE

0'TTEE
[L'0TEE
0°0TEE
£'80€€
2'80€E

------ren - 2T'80EE

2000—

200

400

600

.IOJ I G- S Hosoee
11 _ 111 L 11 _ L 11 _ _|_.__=__.= 11 __::_:__.:_._qo.momm
[=] o [=] o 4204_A_..n_u

800

0O
—



g_evMon4 RMS (ppm)

corr_us_av

_____
o
N

o
o
N N

(wdd) sy

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



300

200

100

-100

-200

-300

-400

corr_us_avg_evMon5 (

ppb)
X2 / ndf 718.4 /53
p0 -4.744 + 4.301

BRI ET A H*ﬂ}

1

SRR T

?

4 f

1T§ +

t

1D pull distribution

Std Dev

Underflow

Overflow

X2/ ndf

Constant

Sigma

Mean -0.1164 + 0.4127

2.947 +0.2918

2

11.59/17

2.569 + 0.544

Mean -0.4856 + 1.1827

4,679 £ 1.561

-2 0 2 4 6 8



g_evMon5 RMS (ppm)

corr_us_av

— O'vvee
—] €'¢vee
—] ¢'evee
— T'evee
— o'cree
— 0'8cee
— 0'Lcee
—] ¢'veee
— T'veee
— O'vcee
—1 0'€cee
—] 6'¢cee
— 8'ccee
— L'ccee
— 9'ccee
— G'ccee
— v'eeee
— €'¢cee
— 2'ecee
— T'ceee
— O'ccee
— 6'Tcee
—] 8'TcEE
— L'1cee
— 9'Tcee
— G'Tcee
— v'IcEE
— €'1cee
— ¢'1cee
— T'Teee
— 0'Tcee
—1 9'0cee
— G'ocee
— v'ocee
— €'0cee
— c¢'ocee
— T'ocee
— 0'0cee
— G'61€E
— V'6TEE
— €'61€E
—] C'6TEE
— T'6TEE
— 0'6TEE
— O'viee
— T'TIEE
— 0'T1EE
— T'0TEE
— 0'0TEE
— €'80¢€€
—] ¢'80¢€¢€
— T'80€E

—1 0'80€¢€
__ ______________________._lo.momm
(@] [ce] © < N o [ce)
N - - -l -l —l

______
N
N

(wdd) sny



§ 3 ° ° © 2 8 %
S S ® S5 g
f=2] - o
= & H o o
+ °© < 3 H H
3 H < Iy ©
S > = & ")
S o 22
=] o o
IS
> IM H - €
@ < K] k=1 8 ]
5 [a} 5] T |5 ] H g
c 3} o B g = 5 5] 1=
o S 5 5 6 % O = @
=
=}
Qo
= .
=
K] [ —
S |
=)
o
(@)
i
e e by by by 1 1 L
© © < N o 0
— — — — —
I
M om
n o
—
D 4
B ©
i
i
| ——
—
©
c
)/0
o
o<
(@]
~
—
«Q ——
c
=
>
e_
2
a_
()]
=
a
=
o
o
————
————
—
——
_______________ INNNRERNRRR RN NN NN
o o o o o o o o o o
o o o o o o o o o
T 8 8 S 5 8 8 3 B




g_evMon6 RMS (ppm)

corr_us_av

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



54/12

+0.2643
+0.1869
17113

1348 +1.34
2.361+9.573

-0.01195
1.942

Mean

Std Dev
Underflow
Overflow
X2 / ndf
Constant
Mean
Sigma

L

1D pull distribution

il

Olllll

23.39

+

203.6 /53 h

X2 / ndf
0 6.148

p

g_evMon7 (ppb)

corr_us_av

1000
-500




g_evMon7 RMS (ppm)

corr_us_av

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



300

200

100

-100

-200

-300

-400

-500

IIII|IIII|IIII|IIII|III—|—|¢-I—H|IIII|

i

corr_us_avg_evMon8 (ppb)
X2 I ndf 258.7 /53 h
p0 -29.67 £ 7.736
o i
AR U
[9¢1

EFTTT

1D pull distribution

Mean  -0.006439 *0.2978
9 I Std Dev 2.189 +0.2106

: Underflow 0
8_

u Overflow 0
7 o X2 I ndf 8.481/13

» Constant 6.172 +1.388
6_

[ Mean 0.5116 +0.2739
5+ Sigma 1.622 +0.333
aF
3_

2 —

1]

0'7|||| o b b bl Ll
-8 - -4 -2 0 2 4 6 8




g_evMon8 RMS (ppm)

corr_us_av

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



g g ° ° © g g &
g 2 s < g &
o = 3 H a! o
# o ~ 3 °© H -
o + > + ~
2 3 9 5 B 7
g 3 g 2 u
s 3 g ° =]
? 3
H = -
3 m m <] m © —
c|§ ¢ & 3 & z § ¢£E
|2 & 5 &8 = 8 2 &
= Z
b -
= -
= -
o A
© -
=1 -
o —]
o
-
L P I S T NSO TR S N TN SR T A S T T M L
S 3 S S ® © °
I ——— ]
D SE———— —
m M " ]
0 © e . .
N~ © —— —
PO.+_ ——— —
™ —— —
59 —_—— —
AN —_—— —
5 —— —
— —_—— —_
_ D \— -
—— —
———— —
= —_—— —
© — —
c
— —_
)/ — —
Qe O e 1 o ]
o<
o —— —
~ -7
o2 ]
c
m —
— —
= -
e_
——— —
S Z
a_ ]
) ]
u —
r_ —
=
=) [ — —
o —_—— —
(NN NN NEAEN _________
o o
g8 8 8 8 ° 8 8 8
N — — 1 4. 4.




g_evMon9 RMS (ppm)

corr_us_av

12
10

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



0

0
6.781e-12/0
70.26 + 142.55

0.4489 + 0.6998
0.2511+ 1.2528

Std Dev
Underflow
Overflow
X2/ ndf
Constant

Mean
Mean
Sigma

1D pull distribution

|

0/53 h

5

X2 / ndf

0'vvee
£Zree
2evee
[L'Zvee
02vee
0'82€€
0°'/2€€
c'veee
L CEE
0'veee
0'€cee
6'CCEE
8'¢ceee
L'CeeE
9°2eee
G'geee
V'2eee
£'¢eee
2'ceee
[L'CCEE
0'ceee

957

0

p

g_evMon10 (ppb)

corr_us_av

6'T2EE
8'Tcee
L'Teee
9'TCEE
S'Teee
'1CEE
£'1eee
C'TCEE
[12ee
0°'T2ee
9°02€€
G'02€ee
7°02€€
£'02ee
2'0cee
IL°0CEE
0°0cee
S'6TEE
7'6TEE
£'6TEE
C'6TEE
[L'61EE
0'6TEE
0'vTEE
LTIEE
0'TTEE
[L'0TEE
0°0TEE
£'80€€
2'80€E
IL'80€E
0'80€E
0'S0€E

©
I | ] |

_________._I.I.I.I_I.I.IT.lI.I.I_I.I.I.I_.
o o =) o [S)
@ © < «

________
[=) o [=) o
N < ©



g_evMon10 RMS (ppm)

corr_us_av

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wdd) siny

0



© o o o o wvw © w
s &2 g 8
H H ﬂm..%m..
© © e + +
E g g d
: ! b
- & &z . ¢E
» T S B 8 ]
E o 8 T £ 3 g £
c & = B & 3 s & o
|l & 5 &8 %« 48 = &
=
=}
Qo
s
2 =
o
=)
o
(@)
i
M PR L | T |
o o o o
Yol < o™ N
I
oM 0o
o ©
g
o ©
+
o
Y—
©
c
—~|™~
3% 2
Q|
—
—
—
c
(@)
=
>
e_
S
[ —
|
(2]
S5
a
=
(@]
(& —
L 111 |1——t—t—t—————i—] | |

0'vvee
£Zree
2evee
[L'Zvee
02vee
0'82€€
0°'/2€€
c'veee
L CEE
0'veee
0'€cee
6'CCEE
8'¢ceee
L'CeeE
9°2eee
G'geee
V'2eee
£'¢eee
2'ceee
[L'CCEE
0'ceee
6'T2EE
8'Tcee
L'Teee
9'TCEE
S'Teee
'1CEE
£'1eee
C'TCEE
[12ee
0°'T2ee
9°02€€
G'02€ee
7°02€€
£'02ee
2'0cee
IL°0CEE
0°0cee
S'6TEE
7'6TEE
£'6TEE
C'6TEE
[L'61EE
0'6TEE
0'vTEE
LTIEE
0'TTEE
[L'0TEE
0°0TEE
£'80€€
2'80€E
IL'80€E
0'80€E
0'S0€E

100




g_evMonl1l RMS (ppm)

corr_us_av

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wdd) siny

0



o < S S ~ < =] o
& g 3 « 8§ 8§
=} w g + S o
T = p < Y + .
™ H © P 9 m
e 10 S 0 S -
S 9 = 8 >
N o = — —
m = ° ]
- & 3z . ¢ ]
3 < K] k=1 8 ]
5 [a} 5] T c 1] c g
c i} = B 2 ~ s 54 2
o = 4] =) o < () = n
= ]
=1 —
o -
s 3]
2 ]
© -
= -
p —
(@)
i
L | L | L
[ o 0
— -
[
—_——
34.|.|.
O o
~ <
AN 0O
%+_
——
0 X
AN
<
— ——
|
———
Y
©
c
/0
~|~
QX< Q ®
Q.
o
~ — i
o
c
(@)
=
>
e_
——
e
2 ——
(%2}
5
.l_
=
o
o
——
——
———
——
——
1111 __T.l.l_w._ll_ ] |
o
(=
=)
o

0000 —

10000
0000




(ppm)

corr_us_dd _evMon0O RMS

________________||_.

(wdd) sy

800

o
o
~

o
o
©

o
o
o

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



8000

6000

4000

2000

2000

4000

corr_us_dd_evMonl (ppb)

t

{4

pO

X2 / ndf

815.9/53
459.5 + 85.5

1**{*

i

—e—
—Q—

i

¢

b b4
ht Tyt

{4 by

t
i*l*% *{*_
t -t

* ?

1D pull distribution

Mean 0.03387 + 0.462

S B B StdDev  3.299 + 0.3267
r Underflow 1
- Overflow 2

4
| X2/ ndf 12.44/16

Constant  2.541x 0.606
I Mean  -0.1219 + 1.4645

3_ —

o Sigma 5.418 + 2.598
L //

2

17

0 Loaboablle o booa b dllidi o ik

-8 - -4 -2 0 2 4 6 8




(ppm)

corr_us_dd _evMonl RMS

____
o
©

___ ____
o o
Q <
™m m ™

(wdd) sy

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1000

800

600

400

200

-200

-400

-600

-800

corr_us_dd_evMon2 (ppb)

— X2 / ndf 5.952 /53 H
C pO 19.58 + 47.13
:_ ®
o [ [ ]
-u ® ! ] s |
ki ® e

1D pull distribution

25

20

15

10

Mean 0.005511 + 0.04517

0
8 6 4 -2

Std Dev 0.3319 + 0.03194
Underflow 0
Overflow 0
X2 I ndf 1.498/2
Constant 33.84 £5.93
Mean -0.03526 + 0.04905
Sigma 0.3305 +0.0353
-Ellllllllllll
4 6 8




(ppm)

corr_us_dd _evMon2 RMS

(wdd) sny

16

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



4 v o o o o @
g g s 5 8 8
® 9 e ¢ <2 <
S © @© S o
S R ]
]
8 s o ]
S ' E
2 ]
[ T T, .
» T & B 8 © —
c|ls ¢ 8 3 2 & 5 & 3
|2 & 5 & « 8§ 2 & —
2 =
5 -
m -
w I
I ———— ) -
3 e
a o
(a)] ]
— ]
. . NP R B A B B
n o [Te) o wn o [Te) o
o o™ N N — i
I
™M N _uu
n om
- o
AN N
%+_
o >
00}
o™
—
y—
©
e
N O
|
QX< Q|
Q|
o
N
™
c
3
>
e_
©
°
(%]
=]
r_
S
o
o
—————

-400 —




(ppm)

corr_us_dd _evMon3 RMS

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1000

500

-500

1000

1500

corr_us_dd_evMon4 (ppb)

X2 / ndf

pO

389.7 /53
—62.7 +20.02

{

1l_|IIII|IIII|'_I.I_I'I|IIII—r-I-III|IIII|I

1D pull distribution

Mean 0.3394 + 0.2664

10

Std Dev 1.921+0.1884

Underflow 2
Overflow 0
X2/ ndf 17.51/13

Constant 3.193 + 0.806

Mean 0.3659 + 0.6113

Sigma 2.593 + 0.792

-5

-4 -2 0 2 4 6 8



(ppm)

corr_us_dd _evMon4 RMS

_________________________.T

Lo o
Lo Lo

(wdd) sny

Lo
<

o
<

Lo
™

o
™

Lo
N

o
N

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



0.0014 +0.04317

Mean

0.3172 + 0.03053

Std Dev

Underflow

1.206/2

33.05 +5.87
0.02424 + 0.04707
0.3384 +0.0362

Overflow
X2 / ndf
Constant
Mean
Sigma

1D pull distribution

5
0

5.435/53 K

5633

X2 [ ndf

4.253

+

-0

p0O

(ppb)

corr_us_dd_evMon5

*le

H ::_._._._._ 1Irr ._._.___—ﬂ

0'50€E

Tw o
© 9



(ppm)

corr_us_dd_evMon5 RMS

Ll
10 ~ 10 =
N —

(wdd) siny



w ©® o o o = g9 o
g & S ¢ g B
3 5 3 8 & S
3 28 S HoS + 3 ®
5 S 58 38 ]
g8 = 8§ 5 © ]
g 2 S e
S S g n
z - -
3 2 3 s &
c|l§ ¢ & §8 £ z § ¢& =
|l & 5 & %« 8 2 @& e
2 3
m — N
i —
m : T — o
— ™y
3 A
o .
= 3
7
—¢
Loy b by oy ] P B -
o n o Te} o [Te) o
[32) N N - -
I O,
) ¢
™M N~ m
O oo
-~
Ml
< ]
M o u_
o T
19}
-~ °
o
—
©
c °
N O o
~| hd
Qo< a °
Q| o
o —_——
N B-
© °
c
3
> o
e_ bl N
© al
S °
_ —
(%)
=]
r_ -»
S
o
o
o]
_______._|_|.|.|.|.|r|.|.|.|_|_.____
o o o o o LONLOTILOOLOILON
i 3 m w NS—IoO  Cois

o o o olod



(ppm)

corr_us_dd _evMon6 RMS

(c0} N~ © Te} < ™ N

(wdd) sny



] © =] =] ] © =] ~
< < — 0 2 ~
& 3 g S & 3
° ° 2 + < +
+ + < +
4 - 5 3z 3
3 8 2 & 3
= *® © 23 o
= 0, ]
- & &z . ¢E =
3 5] 2 k] 8 a —]
S a o} 5] c @ s £
c i = 2 e 3 15 g DB =
o = 4] =) o < () = n =
= =
=1 —]
2 [ 7
= ]
2 ]
© -
= -
o —]
o ]
- =
PR TR S N TN SN TN NN TN WO TR AN O TN W AN WO T W N
N o © © < o
- ~
[ —e— —
—— —
™ © | _
0 S — . .
=~ . —— —
n < —— —
o) —— —
@Q + - .
— —e— —
3 ——— —
— —— —
| —— —
—— —
——i —
—— —
rlm H—— —
c — —
.y —— —
—— —
—~la O
QIx *— ]
o —e— —
o —— —
~ ——— 1
N~ —— —
c —— —
o —e—+ —
S — Z
> —— —
(] —— —
| —— —
3 —-— ]
_ —— —
[7)] —r— —
> —— —
T — 3
= —— —
(@] ——— |
o — -
—— —
—— —
—— —
—— —
—— —
——— —
—— —
—— —
—— —
—— —
—— —
—— —
—— —
—— —
_— —
b D Tereds i L [
o o o o o (=} o o
o n o o Te) o Yo}
3 — — [ 4. 4.




(ppm)

corr_us_dd _evMon7 RMS

— O'vvee
—] €'¢vee
—] ¢'evee
— T'evee
— o'cree
— 0'8cee
— 0'Lcee
—] ¢'veee
— T'veee
— O'vcee
—1 0'€cee
—] 6'¢cee
— 8'ccee
— L'ccee
— 9'ccee
— G'ccee
— v'eeee
— €'¢cee
— 2'ecee
— T'ceee
— O'ccee
— 6'Tcee
—] 8'TcEE
— L'1cee
— 9'Tcee
— G'Tcee
— v'IcEE
— €'1cee
— ¢'1cee
— T'Teee
— 0'Tcee
—1 9'0cee
— G'ocee
— v'ocee
— €'0cee
— c¢'ocee
— T'ocee
— 0'0cee
— G'61€E
— V'6TEE
— €'61€E
—] C'6TEE
— T'6TEE
— 0'6TEE
— O'viee
— T'TIEE
— 0'T1EE
— T'0TEE
— 0'0TEE
— €'80¢€€
—] ¢'80¢€¢€
— T'80€E

0'80€e
0'soee

___
¥ N M o ©o & & © @
~o~ © © © © To)

(wdd) siny

©
To)



1D pull distribution

0
5 2 © © I 3 8 5
2 < 2 w b 8
8 8 & + g 3
s s S © 2
8 < +
n n 2 N o .
8 g ~ + 3 B
8 3 = 3 ]
g 8 S S
g S 3 —
3 o i
@
@ a
H = B
i) H - £
3 = 3 5 g « —
5 ) 5} T < @ s g
3 ° o ~ c < -
2 = 2 3 S s 3 =3
= [ =) o > o = 12} -]
T TR TR W [N S N TN SO [N TN TN S TN AN WO TN TN S NN TR SO T 1
o) [<) ) o 0 o
3 « ~ —

746

23.11/53 hH
+9

43

12

X2 / ndf
0

p

(ppb)

corr_us_dd_evMon8




(ppm)

corr_us_dd _evMon8 RMS

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



o
—
|

3 5 © © N S 8 3
) ]
3 8 g % s S
e e © N MJ_ H B
¢ = § g8 2 .
g8 ¢ 8 ]
S ] °© -
s n
> m 3 € -1
) £ o <] S © —
c ] c S ] S 2 ] E i
ol &8 5 & %« 8§ 2 4§ h
5 —]
m -
w i
5 = 3 ]
2 E
a) ]
i .
| U S T W TN W S T U T S T N T T S N A AN AT RO | L
[T} =) 0 [<) ) =) =)
™ 15} ~ « = =1
[ .|0W. ]
m - .
n N ] hd
.  o—— —
~ N~ T —
o —
— —_———— —
0 ~ —_— _
n L —
N~ _
N —te———— —
—_— —
Py —
—  o—1 - —
o= — lo— —
12 . -
—o————— —
-~ o —_— o— 1 —
|
Q< o _ —
Q| @ —
z — 1 .
(o)) e _
5 : -
M —_—— —
w — 1 o —
— 1+ —
| —
—— —
= —— ]
_ —_— —
%) ——le————— —
> —_—— —
_ —_— —
S
= —_— —
o P -
© — 1 —
— 1l o -
’ ]
e
I | _.._I.l.l.l_.O_I.l.l.lT_ I O I
o (=} o o o
S e} re)
=1 |




(ppm)

corr_us_dd _evMon9 RMS

(wdd) sny

o'vree
geree
ceree
Tevee
oeree
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
2'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



0'vvee
£Zree
2evee
[L'Zvee
02vee
0'82€€
0°'/2€€
c'veee
L CEE
0'veee
0'€cee
6'CCEE
8'¢ceee
L'CeeE
9°2eee
G'geee
V'2eee
£'¢eee
2'ceee
[L'CCEE
0'ceee
6'T2EE
8'Tcee
L'Teee
9'TCEE
S'Teee
'1CEE
£'1eee
C'TCEE
[12ee
0°'T2ee
9°02€€
G'02€ee
7°02€€
£'02ee
2'0cee
IL°0CEE
0°0cee
S'6TEE
7'6TEE
£'6TEE
C'6TEE
[L'61EE
0'6TEE
0'vTEE
LTIEE
0'TTEE
[L'0TEE
0°0TEE
£'80€€
2'80€E
IL'80€E
0'80€E
0'S0€E

[S) [S) ) ) ) 0 © ®
s &2 g 8
N o
S T3 S 3
°© °© 3 H + +
E g g d
5 ;S b
©r 3 E
> Im H - €
@ T 2 k=1 8 ]
g ) 5] k= |5 ] H g
c 3} o B e 5 5] 1=
o s 5 5 6 %« &8 = o
=
3
o)
=
=
2 =
o
=)
o
o
-
PSR TR [N TR TN TN TR [N TN TN TN N NN SN WO SO S |
o o o o
Yol < o™ N
I
o™ O
n o
- O
oo
+l
o
Y—
©
c
)/0
o«
o<
(@]
~ _—
o
—
c
=
>
e_
e
d_ —
(2}
5
n
S
o
o
—
11 _____T.|_|.|.|.|I1.|.|.|_|_|.l_ __
o o o o o o
0 o 0 n o
=1 - [ o




(ppm)

corr_us_dd _evMonl10 RMS

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wdd) siny

0



0'vvee
£Zree
2evee
[L'Zvee
02vee
0'82€€
0°'/2€€
c'veee
L CEE
0'veee
0'€cee
6'CCEE
8'¢ceee
L'CeeE
9°2eee
G'geee
V'2eee
£'¢eee
2'ceee
[L'CCEE
0'ceee
6'T2EE
8'Tcee
L'Teee
9'TCEE
S'Teee
'1CEE
£'1eee
C'TCEE
[12ee
0°'T2ee
9°02€€
G'02€ee
7°02€€
£'02ee
2'0cee
IL°0CEE
0°0cee
S'6TEE
7'6TEE
£'6TEE
C'6TEE
[L'61EE
0'6TEE
0'vTEE
LTIEE
0'TTEE
[L'0TEE
0°0TEE
£'80€€
2'80€E
IL'80€E
0'80€E
0'S0€E

© o o o o wvw © w
s 5 8 &
o o
S T3 S 3
© © e + +
E g g d
5 ;  §
© R 38
vlmwfm
®» T 2 BT g ]
E o 8 T £ 5 g5 g
c 3} T B e 5 s D
o s 5 5 6 %« &8 = o
=
3
o)
=
=
2 =
o
=)
o
o
-
L T W W SN AN TR TR TR T [N TN TN T W |
o o o o
Yol < o™ N
I
o™ ©
0 <t
- O
O
+l
o
Y—
©
c
)/0
o«
o<
(@]
~ _—
—
—
c
=
>
e_
e
d_ —
(2}
5
n
S
o
o
—
_______._|_|.|.|.|.I..I.|.|.|.|_|_.____
o (=} o (=} o
o o Te) o
— I 4.




(ppm)

corr_us_dd _evMonll RMS

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wdd) siny

0



g8 g °© ° 2 & 3 3
N by V) 0 @ <
IS} S © — N ©
" % © H < H -
w © N o a.7‘v N
g 2 g 8 5 .
= = 0 ]
T Q y
> IM H <
) T 2 k=1 8 ]
< [a] [} h= c 7] c £
c § z B e 3 s &8 35 =
o = 4] =) o < () = n =
= -
=1 —]
o -
..m ]
[ ]
S c ]
= -
o =]
o =
- ]
l . PR T TR NN TR S T N T _
o © < o
—
I —— ]
——
mo| o ]
Lo (¢p] — —
~ —— —
© o ——— —
o —— —
N +l —— —
RN —— ]
™ —— —
I%e) —— —
AN —— —
| H—— —
—— —
—— —
o= —— —
©
c —— —
- —— —
N =) — .
~ < —— m
fe) —— —
o —t— —
o —— —
N~—" —— —
o —— —
c —— —
@] —le— —
M —— —
> —— —
() —— —
I_ —_—— —
%) —e— —
S — e — -
_l . ]
= —— —
o —— —
(8] —il—— —
—_—— —
—— —
—— —
—— —
—— —
—— —
—— —
—— —
—— —
— —
—— —
—— —
—— —
—— —
— —
_— —
__________ ____________________
o o o o o o o o
(= o o o o o o |
o o o o o o o
o o o o o o o




(ppm)

corr_usl_evMon0 RMS

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1D pull distribution

+0.2938

2.159 £ 0.2077

-0.08866

Mean
Std Dev
Underflow

Overflow

10.64/11
6.395 + 1.444
-0.2848 + 0.2902

X2 / ndf
Constant
Mean

1.614 + 0.365

Sigma

[ee]

~

© [Te}

<

™

-

0 el

N

252.1/53 hH

—326

X2 / ndf

p

104.8

+

(ppb)

corr_usl_evMonl

o e e




(ppm)

corr_usl_evMonl RMS

(wdd) sy

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



m 1w o o s o o o
5 & 5 v B B
e g 2 W B 8
. g 1 8 ¢
+ + S R w4 ]
8 @8 3 32
3 8 502 ]
s 3 3 o° -
s ? .
vmwfm ]
*x T £ T 8 © —
clg 8% § 8 ¢ o5 o2 .
sl 8 5 & %« 8§ = @ :
= .
5 —
2 B
[=
= -
N S —— —
© -
E =
o —]
(@) n
i .
P T T R T B L1 1 -
[Te) o [Te) o o
N N - —
I
mm 0—
-l
™m0
3
————
- ©
-
<
™
|
Y—
©
c
~
NP =}
—~| X}
Qo
Q.
o
~
AN
c
=
>
()
|
()]
=
a
=
o
o
—
[ S—
e
I 1 O I |
o o o o o
o o o o
o o o o
8 3 2 8




(ppm)

corr_usl_evMon2 RMS

Ll _________________________ﬂ

(@] o
AN o
™ ™

(wdd) sy

260

o
<
N

(@]
N
N

o
o
N

o
(¢}
—

o
©
-

o
<
i

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



4000

2000

2000

4000

6000

corr_usl_evMon3 (ppb)

X2 / ndf

pO

1425 /53
-181.5+ 39.3

% ¢ ¢ ’

L ;

§ iéii*
¢

1D pull distribution

Mean 0.8381+ 0.3199
lUn StdDev  2.262 + 0.2262
o Underflow 3
6__ Overflow 1
L X2/ ndf 10.59/14
5+
L Constant 4.403 + 1.017
r Mean 0.9887 + 0.3551
4 — ,
| Sigma 1.982 + 0.402
3_
o
1+
0-"' 1 N N N AN A
-8 -6 —4 -2 0 2 4 6 8




(ppm)

corr_usl_evMon3 RMS

___________________________m

o o
o n
< ™

(wdd) sy

o
o
™

o
Lo
N

o
o
[Q\

o
Lo
I

o
o
i

o
o

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



corr_usl_evMon4 (ppb) 1D pull distribution

- X2 / ndf 728.9/53 M 0.4613 + 0.3654
4000 :_ * * po _301 .4 i 74. 64 14 -_ ] St:a:ev .2.635 ; 0:2584
2000 f— * é * * { * E Underflow 2
R TR N SRR L TR UL R SR
I ¢ ) Bt $1¢
- r X2/ ndf 15.41/14
2000 :_ * * * * * * * * * * { * * 10 - Constant  2.529 + 0.531
4000 - [ Mean 2.436 + 3.778
? 8 __ Sigma 6.665 + 4.598
6000 — L
- -
8000 [— 5
- ¢ I
10000 |—
e e e e e e el
o
sk
-10E-
_153_ 0|||III|III|I ||||||II|III|III

-8 ) -4 -2 0 2 4 6 8

3305.0



(ppm)

corr_usl_evMon4 RMS

o
o
N

o
(c0}
i

o
©
—

o
I
-

o
N
i

100

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1D pull distribution

0.1625 £ 0.3103
2.259 £ 0.2194

Mean
Std Dev

Underflow

Overflow

6.337/13

X2/ ndf

4.7+09

Constant

0.3558 + 0.5205

Mean

\ Sigma 2.654 + 0.527

|

N~

©

[Te}

<

™

o~ —

X2 7 ndf 345.6/53
0 -5.307 + 6.231

p

(ppb)

corr_usl_evMon5

—@—]

_._:._—:_._: oint .___._:.__._.—

e Jovree
--i-ezvee

2evee
[L'Zvee
02vee
0'82€€
0°'/2€€

-z vzee

-t 4{z'80ee
1'80€€

tfrveee
--+-o'vzee
;- -vJo'gzee

6'CCEE
8'¢ceee

--rLzzee

9°CCee
G'geee

.- -idpezee

£'¢eee
2'ceee
[L'CCEE
0'ceee
6'T2EE
8'Tcee
L'Teee
9'TCEE
S'Teee
'1CEE
£'Teee
C'TCEE
[12ee
0°'T2ee
9°02€€
G'02€ee
7°02€€
£'02ee
2'0cee

+rozee

0°0cee
S'6TEE
7'6TEE
£'6TEE
C'6TEE
[L'61EE
0'6TEE
0'vTEE
L'11ee

-+ HoTTEE

[L'0TEE
0°0TEE
£'80€€

0'80€E
0'50€E

_________
o
S

(52}

—e—
__________T_.O.I___________________
o o [S) o o o o

o
N

o
—

o
—
|

S
N

=3
P

=}
¥

m04204_ﬁ_..r_0
rg
|

ki



(ppm)

corr_usl_evMon5 RMS

— O'vvee
—] €'¢vee
—] ¢'evee
— T'evee
— o'cree
— 0'8cee
— 0'Lcee
—] ¢'veee
— T'veee
— O'vcee
—1 0'€cee
—] 6'¢cee
— 8'ccee
— L'ccee
— 9'ccee
— G'ccee
— v'eeee
— €'¢cee
— 2'ecee
— T'ceee
— O'ccee
— 6'Tcee
—] 8'TcEE
— L'1cee
— 9'Tcee
— G'Tcee
— v'IcEE
— €'1cee
— ¢'1cee
— T'Teee
— 0'Tcee
—1 9'0cee
— G'ocee
— v'ocee
— €'0cee
— c¢'ocee
— T'ocee
— 0'0cee
— G'61€E
— V'6TEE
— €'61€E
—] C'6TEE
— T'6TEE
— 0'6TEE
— O'viee
— T'TIEE
— 0'T1EE
— T'0TEE
— 0'0TEE
— €'80¢€€
—] ¢'80¢€¢€
— T'80€E

0'80€€
|| _H_“ 0'S0EE

____ __________
o [ee] (o] <
N — — —

(wdd) sny



=) bl o o ~ © o <
o 1%} =z . o »
3 5 R
o o ~ 0 =} o
+ + ] B + + 7]
o~ N «© e} N
5 6 S 3 b
0 o — ~ —
m =} =} -
°c . & = _ = ]
[} T o 5 o} © —
m a [} = c m M £
c 3} o B g = 5 5] 1= T
o = 5 5 6 % o0 =
=
=}
m =
= f ]
0 V= ]
° — ] ]
= =
o
o
) =
L 1 4 | | | | M BRI B ETET A AT B
© © < ~ =] ES) © < ~ o
- - - - -
I ]
™M © .
O 00 _
< - —
M+_ ]
©oJ —
< ]
- ]
1 p—
| ]
u— _
© ]
n p—
- n
O ]
—~| X} ]
Qo
o ]
o —_— -]
N p—
6 p—
c ]
m —
V -
[ ]
I —
S -
S ]
r_ ]
- -
o ]
(&) —
———
____ HENENENN] i minninnin
o o o
S o 8 « O_n_/_nﬁA__.
8 ¥

[Tel
]




(ppm)

corr_usl_evMon6 RMS

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



5 § ° ° % 3 8 %
Q 3 < = & S
S o @ + S %
+H +H S ® H 0 -
I o 5 0 ] u
y 8 i & ]
g 3 2 ]
=
7
3 m H 5 5
c|lsg ¢ & 35 E =
|l 8 5 & « 8 —
= -
5 —
b -
= -
k) C ] -
° _ / ]
= [ 7
o —
o i
- =
M- | L PR S T R R T T | L -
o © © < o
—
[ —— —
—_— —
M O
—_— —
58 |.|.|. —
~ < ——— .
© Nf—e—— —
[e'e) —— —
@ H — ]
17 — —
(o] —— —
—/. — —
4 —— —
———i —
—— —
——— —
5 ——F .
c —— —
— —
~
=) —T 7]
m/XD. e T ]
[} —— —
o ——— —
~— —— —
P~ —— —
c —— —
() — —]
b —e— .
> —— —
e_ —— —
—_ —— —
()] —— —
= — —
l e ]
— —— —
o — —
o ——— —
—— —
—— —
— 1 —
—— —
—— —
—— —
— et -
——— —
—— —
—— —
—— —
—— —
———— —
______ __ ___________________
o o o o o o o o o o
o o (=} o o o (= o o
8 8 ¥ W § § &8 &8 8




(ppm)

corr_usl_evMon7 RMS

ERIRNERERRE
—
™ 2

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



N ® o o w =\ o o
g 8 S 2 g g
= 5 5 @ = bl
o =3 o~ +H o o
5 @ c 8 i i ]
g€ B CI -
8§ 9 S8 ]
8 S (=) [S) —]
S 3
2 - -
3 m m <] m © —
c|l§s S & 3 2 & 5 B ]
o s B 5 S %« 8 2 & E
=
5
2 \_V‘M.
= f .
0 [ — —]
° ! u
= t
>
a
o n
- =
bl b b b b b b b b b
N o [ee] (e} < N o [ce) © < N o
N N - - - - -
I
0_
™m0
O O
~m
O -
M_+_
oM N
(q\]
N~
—
|
——
©
e
———
~
~n O
~><a
o)
o
o ——————
N
[e0]
[
=
>
(]
I_ —_——
[
S
r_
-
(@]
o
——
—_—
———
_______T_I.I.l_.‘l.l.l.l_..____________ 1111
o o o o o o o
o o o o o o
8 & 3 S 8 8




(ppm)

corr_usl_evMon8 RMS

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1D pull distribution

(ppb)

corr_usl_evMon9

N < o o < iel «© <
g @ > 8 § 8
~ Ire) 8 © N~ =3
S = 3 Ho9 5 )
S S < © S 5 i
+ + 2 +H Py n
3 3 o8 = n
S 8 5 b
) 3 8 o i
= s E
: 2 3 s & ]
§ S5 & 5 : &z § ¢ -
i} B2 < > ~ 3 o E=y
= 7] S [¢] %« © = @ —
=3~
f .
[—— ! — o
. -
 «
______________________________________________lom
N o [ee] © < N o [ee] © < N o
~N N ~ = - — -
I —F -1y
™ < - =
10 10 A I
-~ —_— —
<t O —_— —
—_— —
M+_ — ]
—— —
o — =
N —— —t
N R b 3
— L A — -
—_— —
—_—— —
— —4
5 — 2
c —_— -1
e —
~ ]
— —
NP =} 1 ]
<
—_— —
—_— —
— i —
I
(NN NENENN L)L
o o o o o o o o
o n o o 0 o Y2}
« — — 1 I —
] |



(ppm)

corr_usl_evMon9 RMS

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
pcrecee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee

(wdd) sny



1D pull distribution

Mean
Std Dev
Underflow

Overflow

6.781e-12/0

X2/ ndf

70.26 + 142.55

Constant

0.4489 + 0.6998

Mean

0.2511+ 1.2528

Sigma

|

...I...I...I..J .LI...I...I...

0/53 h
13

X2 / ndf

85

0

p

(Ppb)

corr_usl_evMonl10

0'vvee
£Zree
2evee
[L'Zvee
02vee
0'82€€
0°'/2€€
c'veee
L CEE
0'veee
0'€cee
6'CCEE
8'¢ceee
L'CeeE
9°2eee
G'geee
V'2eee
£'¢eee
2'ceee
[L'CCEE
0'ceee
6'T2EE
8'Tcee
L'Teee
9'TCEE
S'Teee
'1CEE
£'1eee
C'TCEE
[12ee
0°'T2ee
9°02€€
G'02€ee
7°02€€
£'02ee
2'0cee
IL°0CEE
0°0cee
S'6TEE
7'6TEE
£'6TEE
C'6TEE
[L'61EE
0'6TEE
0'vTEE
LTIEE
0'TTEE
[L'0TEE
0°0TEE
£'80€€
2'80€E
IL'80€E
0'80€E
0'S0€E




(ppm)

corr_usl_evMonl10 RMS

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wdd) siny

0



Mean

0
6.781e-12/0
70.26 + 142.55

0.4489 + 0.6998
0.2511+ 1.2528

Std Dev
Underflow
Overflow
X2/ ndf
Constant
Mean
Sigma

|

1D pull distribution

0'vreEE
£'eree

0/53 h
0+14.52

X2 / ndf
p

(Ppb)

corr_usl_evMonll

2evee
[L'Zvee
02vee
0'82€€
0°'/2€€
c'veee
L CEE
0'veee
0'€cee
6'CCEE
8'¢ceee
L'CeeE
9°2eee
G'geee
V'2eee
£'¢eee
2'ceee
[L'CCEE
0'ceee
6'T2EE
8'Tcee
L'Teee
9'TCEE
S'Teee
'1CEE
£'1eee
C'TCEE
[12ee
0°'T2ee
9°02€€
G'02€ee
7°02€€
£'02ee
2'0cee
IL°0CEE
0°0cee
S'6TEE
7'6TEE
£'6TEE
C'6TEE
[L'61EE
0'6TEE
0'vTEE
LTIEE
0'TTEE
[L'0TEE
0°0TEE
£'80€€
2'80€E
IL'80€E
0'80€E
0'S0€E

200—

L1111 T++4|T+4|T+4A1T+4|T+44|T+L L1111 ____ 111
o [=) [S) Q o o
=] ro) [re) =]
= 1 N

150 —
-100

Y5}
—
]



(ppm)

corr_usl_evMonll RMS

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wdd) siny

0



15000

10000

5000

5000

10000

15000

corr_usr_evMonO0 (ppb)

X2 / ndf

I|IIII|»I—|—|.1—i—H_—I._';I——hIII

pO

10.01/53
22.35 + 769.6

25

20

15

10

1D pull distribution

Mean 0.009079 + 0.05857

Std Dev 0.4304 +0.04141

Underflow 0
Overflow 0
X2 I ndf 1.93/2
Constant 27.31+4.93
Mean 0.06248 + 0.05765
Sigma 0.4073 +0.0486

g bl II|I\L|III|III|III
-6 -4 -2 0 2 4 6

8




(ppm)

corr_usr_evMon0 RMS

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



0000

15000

10000

5000

5000

L0000

15000

0000

8
6
4
2
0
2
4
6
8

corr_usr_evMonl (ppb)

X2 / ndf

——

—e—

pO

573.6 /53
—1245 + 273.3

|II.I_IlI_I'II|IIII|III |IIII|IH+?HII|IIII|II

i 1

1D pull distribution

Mean —0.2986 + 0.419
Std Dev 3.051+ 0.2963
Underflow 0
_ Overflow 1
X2/ ndf 9.345/16
Constant 3.091+ 0.710
Mean -0.2396 + 0.9772
Sigma 4.34+1.61
-
/
N\
\\
II|III|III|III|III|III|III|II
-6 -4 -2 0 2 4 6 8




(ppm)

corr_usr_evMonl RMS

(wdd) sy

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



10000

5000

5000

L0000

corr_usr_evMon2 (ppb)
X2 I ndf 27.87153

po -380.7 + 449.9

I.IJll.I.IJll.IJ T

1D pull distribution

Mean  -0.01207 +0.09775
20 B StdDev  0.7183 +0.06912
18 [ Underflow 0
B Overflow 0
16
o X2/ ndf 5.707/5
14 Constant 19.56 £ 4.29
- Mean  -0.03528 +0.07775
12~
L Sigma 0.5262 +0.0887
10
8 —
6 — s
4 — L
o
L L1l | Ll | Ll 11 | 11 Ll | L1l | 11l
0
-8 -6 -4 -2 0 4 6 8




(ppm)

corr_usr_evMon2 RMS

(wdd) sy

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



4000

2000

2000

4000

6000

8000

corr_usr_evMon3 (ppb)

X2 [ ndf 3888 /53 |
po -209.3 + 27.09
¢ é

s ¢ % R SR I sbpe

1D pull distribution

Mean  1.544 % 0.3804

or B StdDev  2.58 +0.2689

: Underflow 5
5 — | Overflow 3

L X2 / ndf 11.54/16

r Constant 2.313 £ 0.529
4 —

i Mean 1.096 + 1.150

r Sigma 4.313 + 1.549
3+ L|
0III|III|III|II|III|III|III|II
-8 -6 -4 -2 0 2 4 6 8




(ppm)

corr_usr_evMon3 RMS

(wdd) sy

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



© ~ o ) ) I © 0
= N 2 o ~ =}
N ~ 8 ¥y =
o al o - «@ o
S = H °© + i
M + o H P
- u
S 2
T
- 3 =z _ =t
[} = S <] < ©
= o @ £ 2 ] s g
c 3 = B e 3 s g8 35 =
|l & 5 &8 %« 48 = & =
= =
5 —
b =
= -
ki € 3
© -
= 7
o —
(@) =
i —
—
v e b by by by by v by by g by 7
© © < N o 0 © < N o
— — — — =1
[ —]
™ - ]
Ko luTo) -]
-~ O PY —]
— —
© H .
™M © 7
-~ ]
A -
_ p—
—— —
—e— —
o= —
© _]
c —— —
ol _F .
~><a —— m
© —— —
o —e— —
o —— —
~ —— —]
< —eT— —
< —— —
o —— —
= —— 3
> —e— —
() —— -]
a —— —
)] —e1 —
S —— —
a —e—1 —
S — —
(@] —— —
o L o— —]
—e— —
—— —
—e— —
—— _ —
- o— —
——i —
—— —
—e— —
—e— —
—— —
——
—e—1 —
1 1 1 _ | _.I.ILlT_ | L1 1 _ 1| _ 1+
o o o o
S S S S
=1 S <] o
N o <t ©




(ppm)

corr_usr_evMon4 RMS

(wdd) sy

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



S S 8 < S o @
+H +H ﬂ 0 + < =
o ~ I < ~
g = 58 2 m
] N N Iat @
g = = ©
2 ]
- - =
c|l§ ¢ & §8 £ z § ¢& Eh
§|f 35 s = 5 ¢ 3 3
= =
=} — N
m =
5 | :
5 \ ] -3°
3 — L .
(@) uq_ ]
i -
=y
—¢
vl by by by by by P
~ © [re) < ) N — o
[ — =
o —F = :
i . ;
fo) —— — -4
~ A H eo— _ r
—/. L0 —— — -
o +H —e— — -4
9 — —— — -
™ ® —e— ] 3
— —— — -4
. —e— — -4
A__. —— — -3
—+o— — -
—— — -
— —e— — -4
—— — -
S o ] .
.y —— — -
~ O —— — E
~|>< —— m 1
o) —— — -
o —— — -
o ———i — -
~ —— — -
Ln —e— — -
m —e— — -4
—e— — E
= —e— — -3
> —e— — -4
(] —e— — 3
r_ —— — -~
)] —o— — -
- —e— — -4
a —e— — -4
S —— — -
(@] ——i — -
o —e— ] 3
—— — -3
—— — -
—e— — -4
—e— — -3
—— — -
—o— — -
—— — -4
—— — -
——— — -
—— — -
—— —
—— —
—— —
—— —
—— —
__________________.I.On_u._______________
o o o o o o o o o
=] =3 =] =] =] =] o =]
T 8 & S 08 @ F



(ppm)

corr_usr_evMon5 RMS

o] ____________________.T

(wdd) sny

© <
— —

N
-

o
—

[o0]

©

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



2] @ o o o~ o < ©o
© @ - (=] © <
8 < 3 © 2 8
S S & H S S
+ w @ 3 N +H -
o : @ .
g v & 8§ 8 7
3 2 N &
8 S 3 ° ]
s 5 b
> m H - = ]
c 8 5 2 K] g < o —]
c|§ = E ¢ = £ § 5 h
(e} = 2] S ¢} =< o = » -1
5 —]
o 2
= 1 m
m —— . —
= —
a  p—
(@) n
i .
I | M| L P 1 oo by 0 T
o [re] o ) o ) [S)
® 3 39 — =1
[ —_— —
— —
2 5 . .
: —_——t—— —
)] P —
o N . —
o 4+ —t— —
ST — —
— N —_——T —
—_— —
— ——— —
— —_—— -
I ol 1
—_— —
—_———————— —
5 —— .
—_— —
c
—t————— —
-~ U R — —
NP =} e T ]
~|>X}<
fe) —_— —
o =
o —
N —
[Te) —
c —
o —
> —
() —
r_ .
7] —
>S5 —
r_ ]
= —
o —
o —
—_———————— —
111 111 11 1 |
o o o o o o
=] o =1 =] =]
¥ < § 5§




(ppm)

corr_usr_evMon6 RMS

______________________ _______________ﬂ

o Lo o Lo o Lo o 0o
< ™ ™ N N — —

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



g g ° ° 8 8 3 %
§ 8 S ¢ B &
s o & Hod g
H -1
e o S8 29 .
2 o = -
3 2 o< —
g s =
. 8 sz _ = =
3 5] 2 k] 8 a —]
= a [} T c 17} =1 £
c § = B - s & 5 -
o = 4] =) o < () = n -1
=
=1 —]
o -
b= .
2 ]
© -
=] -
o —]
o i
— =
! TR | ! TR ! 7
N o o
- —
[ —Q— —
— —— =
% n — —
- —— —
~ ﬂ P— —
B —e— —
o H —e— —
— 00 —— —
3 o~ —— —
0 — =
- —— -
N~ —— —
—— —
—— —
—— —
rlm —— —
c —— —
.y —— —
N =) —— .
~>< 2 —e— ]
fo) —— -
o —— -
(=1 —e—i —-
~ —— —-
N~ —— —
c - o—— —
o . e ]
= —e— .
> —— I
()] —— —
r_ —— —
) —e— —
> —e—t— —
a —o— —
S —— —
(@] _I
o Ry I
—— —
—— -
—— —
—— —
—— —
—— —
—— —
——— —
—— —
—— —
—— —
—— —
—i0— —
—— |_
—— —
—— —
_ Lol o] 1] H
o o o o
o (= (=} (=3
o [Te) [Te) o
- | —



(ppm)

corr_usr_evMon7 RMS

n <
< <

(wdd) sny

[32)
<

AN
<

—
<

o
F

38—

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1D pull distribution

© ™ S} ) o o I3 ™~
~ © — = @ o
~ * - ™ @ @
o bal © — N o
o o ~ o
> H + .

+ +H < ~ + © =
2] < ~ ~ (o2}
8 9 5 9 ]
3 o © 5 —
= =]
T z

> 8 R € —

) = o k<] ] © —
§ S ¢ 8 E oz g E
¢ T 2 s 3 S 2 Do ]
= 4] =) o < () = n =
o b b by b by bov o by g by i ey

o © ~ © [Te) < ™ N

X2 7 ndf 224.8153 h
—42.1% 11.32

(ppb)

corr_usr_evMon8

400

OO T e




(ppm)

corr_usr_evMon8 RMS

Lo o
< <

(wdd) sny

Lo
™

o
™

[Te]
N

(@]
N

Lo
—

o
—

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



g 8§ ° ° w g g 5
i 8 - -
+ s < ] s +
N P4 R o .
o g -
? a
s t ]
. & 3 &z § . ¢ -
c § S £z 5 £ ]
s|% & 5 5 = 8§ & &
k=]
=1
m =
b= I .
g | D/— = -
© 1 -
= ]
o
(a)]
— 3
P TR S T T S N T T S N S T T Y | TR NS B
© < ~ =) © © < ~ =)
- - - -
I —
M m ° I
0 o _I
-~ ﬁm _
N~ - —
L+ 0
Qw0 I
o £
N m
< —
| ———— —
—_—— —
————— —
Mw — —
—————1  —
c f
—_———— —
-~ o — iy
oy
o) — -
o} —et— —
=} ———— —
- — —
(0] —_—— —
c —_— -
o ———— —
M — —
> — i —
[} —_— —
r_ —_—— —
[ —— -
=] ——t— 1
a —t —+
= I
o T
(&) .
———i IL.
————— —

-100

11
N T OWn
— O mu

-200

N
ol



(ppm)

corr_usr_evMon9 RMS

___________
© < N
— - —

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



0'vreEE

£'eree

© o o o o wvw © w
s &2 g 8
o
1o T8 8 2
© © e + +
E g g d
5 o 2§ b
I S
. 3 =z _
®» T 2 BT g ]
s o & §T £ @ g ¢
cl|ld = B ¢ 5+ & & »
|l & 5 &8 %« 48 = &
=
3
o)
s
2 =
o
=)
o
o
-
L T W SR S A TR SR TR TR [ T T
o o o
Yol < o™
I
[sp o)
n o
-~
O
+l
o
Y—
©
c
~
P =
al>< g
Q. —_—————
o
N—r
o
i
c
=
>
()
r_ —_——
()]
=
i
=
o
o
—

2evee
[L'Zvee
02vee
0'82€€
0°'/2€€
c'veee
L CEE
0'veee
0'€cee
6'CCEE
8'¢ceee
L'CeeE
9°2eee
G'geee
V'2eee
£'¢eee
2'ceee
[L'CCEE
0'ceee
6'T2EE
8'Tcee
L'Teee
9'TCEE
S'Teee
'1CEE
£'1eee
C'TCEE
[12ee
0°'T2ee
9°02€€
G'02€ee
7°02€€
£'02ee
2'0cee
IL°0CEE
0°0cee
S'6TEE
7'6TEE
£'6TEE
C'6TEE
[L'61EE
0'6TEE
0'vTEE
LTIEE
0'TTEE
[L'0TEE
0°0TEE
£'80€€
2'80€E
IL'80€E
0'80€E
0'S0€E




(ppm)

corr_usr_evMonl0 RMS

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wdd) siny

0



© o o o o wvw © w
s 8B & R
H H ﬂm..%m..
© © e + +
E e g g
5 o 2§ b
- & &z . ¢E
®» T 2 BT g ]
s o & §T £ @ g ¢
c |3 = B & 5 § & 2o
6|l 8 5 &8 %« 8 = @
=
=}
Qo
s
2 =
o
=)
o
(@)
i
PSR TR [N TR TN TN TR [N TN TN TN N NN SN WO SO S |
o o o o
Yol < o™ N
I
[sp N {e]
o m
~ N~
o ©
+
o
Y—
©
c
~
P =
al><2
Q. —_—————
o
N—r
i
—
c
=
>
e_
y —_——
=
i
=
o
o
—
L 111 |ttt —f—j—j—j] |

0'vvee
£Zree
2evee
[L'Zvee
02vee
0'82€€
0°'/2€€
c'veee
L CEE
0'veee
0'€cee
6'CCEE
8'¢ceee
L'CeeE
9°2eee
G'geee
V'2eee
£'¢eee
2'ceee
[L'CCEE
0'ceee
6'T2EE
8'Tcee
L'Teee
9'TCEE
S'Teee
'1CEE
£'1eee
C'TCEE
[12ee
0°'T2ee
9°02€€
G'02€ee
7°02€€
£'02ee
2'0cee
IL°0CEE
0°0cee
S'6TEE
7'6TEE
£'6TEE
C'6TEE
[L'61EE
0'6TEE
0'vTEE
LTIEE
0'TTEE
[L'0TEE
0°0TEE
£'80€€
2'80€E
IL'80€E
0'80€E
0'S0€E

100




(ppm)

corr_usr_evMonll RMS

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wdd) siny

0



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74
	Page 75
	Page 76
	Page 77
	Page 78
	Page 79
	Page 80
	Page 81
	Page 82
	Page 83
	Page 84
	Page 85
	Page 86
	Page 87
	Page 88
	Page 89
	Page 90
	Page 91
	Page 92
	Page 93
	Page 94
	Page 95
	Page 96
	Page 97
	Page 98
	Page 99
	Page 100
	Page 101
	Page 102
	Page 103
	Page 104
	Page 105
	Page 106
	Page 107
	Page 108
	Page 109
	Page 110
	Page 111
	Page 112
	Page 113
	Page 114
	Page 115
	Page 116
	Page 117
	Page 118
	Page 119
	Page 120
	Page 121
	Page 122
	Page 123
	Page 124
	Page 125
	Page 126
	Page 127
	Page 128
	Page 129
	Page 130
	Page 131
	Page 132
	Page 133
	Page 134
	Page 135
	Page 136
	Page 137
	Page 138
	Page 139
	Page 140
	Page 141
	Page 142
	Page 143
	Page 144
	Page 145
	Page 146
	Page 147
	Page 148
	Page 149
	Page 150
	Page 151
	Page 152
	Page 153
	Page 154


